@ 374 (19,05mm)

=
s
P

PREPARAT ION =

INTERIOR FACE

¢ 3/8 (9,53mn) g
(2 PLCS) %'é
ORILL BEFORE A
o138 A
(34,93um) 1/3/‘5-\‘")/
9.0
4
(%

? 172
(12,7mm)

NOTES:

1. DRILL 7/32 DIA ANO COUNTERSINK
FOR A H10-32 FLAT HEAO SCREW.

2. WHEN USING OUTSIOE CYLINDER,
ORILL 7/32 DIA FOR 10-32 SCREWS
BOTH SIOES AND COUNTERSINK
INTERIOR ONLY.

3. THESE DIMENSIONS ANO TEMPLATES ASSUME A DOOR THICKNESS OF 1.
FOR DOORS OF OTHER THICKNESS, CONSULT FACTORY.

OF DOOR _/|«
BACKSET CENTERLINE

I‘f/////
SEE NOTE 2
SEE NOTE 1

5"

FOR SELF-TAPPING SCREWS

@1 174 (31,75mm)
INSIOE ONLY

INTERIOR SIDE INSTALLATION

OF HEADER

STRIKE PLATE ASS'Y

ESCUTCHEON

ORILL .125 DIA HOLE
(2 PLCS)
FOR SEX BOLT MOUNTING,
ORILL 3/8 OIA
AT QUTSIOE OF
0OOR AND 7/32 DIA
AT INSIDE OF OOOR LOCKING
SPACER RINGS NUT
(FOR USE WITH
1" CYLINDER
ONLY)

' -
INTERIOR FACE PR32 x 2 SCREN
OF DOOR (1 REQ'0)

NOTE: SPACER THICKNESS 'T* =

#10-32 x 172" SCREU—/'%

PAN HEAD SEMS
(4 REG'D)

/

# =

~ye
'

T,

-~
—_—————— g

——— -

LENGTH MINUS 7/8"

T=L- 78"
-1r—T
178
(22,23mm) ‘l‘l‘ll‘ll‘l‘

PRODUCT MUST BE INSTALLED
ACCORDING TO ALL APPLICABLE
BUILDING AND LIFE SAFETY CODES

-
#10-32 x 5/16 SCREW .
FLAT HEAD N
(3 REG'D) .
~
N
MO x 1 174
PAN HEAD
SELF-TAPPING

MACH. SCREW
(2 REQ'D)

SCREW (2 REG'D)

#10-32 x 172 PAN HEAO

g\
#10-32 x 172" SCREW METRIC EQUIVALENTS

P
( :NRE'[EJ,Ag ]55"5 INCHES MM
3/8 9,53
172 12,70
5/8 15,87
1 25,40
2 50,80

DOOR OPENING WIDTH
30" (768mm) 36"(914,4mm) 42°(1066,8mm ) 48°(1219,2mm)

DIM

A | 24 1747(615,95mm) | 30 1/4"(768,35mm) | 36 1/4"(920,75mm)| 42 1/4*(1073,15mm)

® ~NoOowm W) —

. DRIVE OUT TWO ROLL PINS.

. REMOVE MOUNTING CAP.

. COLLAPSE BAR ANO TAPE DOWN IN THE AREA OF CUT-OFF.

. OETERMINE EXTRUSION LENGTH ( "B" DIM). (NOTE: 3 19/32 (91,28mm) MINIMM

. SAW OFF EXCESS LENGTH, REMOVE TAPE ANO DEBURR.
. LAY MOUNTING CAP OVER MOUNTING BAR (SEE FIG. "C"), AND USE AS A GUIOE TO

. RE-INSTALL MOUNTING CAP INTO MOUNTING BAR ANO DRIVE TWO ROLL PINS INTO HOLES.

CUT-0FF INSTRUCTIONS FOR NON-STANDARD DOORS

OIMENSION FROM RIVET CENTERLINE TO NEW CUT-OFF LENGTH AS SHOWN).
MEASURE MOUNTING BAR (NOT PUSH BAR)., AND MARK EXTRUSION LENGTH ON TAPE.

ORILL TWO @ 178 (3,18mm) HOLES.

MOUNT ING BAR

OIM "B"

®1/8 (3,18mm)
HOLE

MASKING TAPE

FIG. “C”

SEPARATING PUSH BAR FROM MOUNTING BAR PROCEDURE

. REMOVE BOTH ENO CAPS. THE RETAINER IS ATTACHED TO THE NOSE ENO CAP.
. SLIOE PUSH BAR TOWARD HINGE SIDE OF DOOR.
. CONTINUE TO SLIDE PUSH BAR PAST THE PIVOT PLATE THAT RIDES IN PUSH BAR TRACK.

. SLIOE PUSH BAR IN OPPOSITE DIRECTION KEEPING PIVOT PLATE OUT OF TRACK UNTIL

PUSH BAR IS FREE OF MOUNTING BAR.
i)/ END CAP

MOUNT ING

BAR <>
PIVOT PUSH BAR
PLATE
TRACK

/} PIVOT PLATE STOP
< / PLATE
s

[1 —1

& W N —

END CAP ASS'Y

INSTALLING PUSH BAR TO MOUNTING BAR

1. WITH PUSH BAR IN HAND AND MOUNTING BAR ATTACHED TO DOOR. FIND STOP PLATE
STAKED INTO PUSH BAR. (THIS PLATE IN ON THE LATCH ENO OF ASSEMBLED UNIT).
SLIOE THE PIVOT PLATE NEAREST HINGE INTO TRACK OF PUSH BAR UNT|L SECOND
PIVOT PLATE IS EXPOSED. INSERT PIVOT PLATE INTO TRACK ON PUSH BAR AND
SLIOE IN OPPOSITE DIRECTION UNTIL PUSH BAR AND MOUNTING BAR ALIGN.

www.adamsrite.com
@ Agams Phone: 800-626-7590
800-872-3267

) Rite
800-232-7329

Rev. L

80-0180-210

Ecn 11955C

Date: 07-09-12

Page

8500 EXIT DEVICE FOR HOLLOW METAL DOOR AND FRAME TRADEMARK

of

HARDWARE

2 WWW.TMHARDWARE.COM



www.tmhardware.com/adams-rite-exit-device-8500-3600-series-concealed-vertical-rod-for-hollow-metal-doors.html

INSTALLATION
INSTRUCT ION

CHECKL ST

ADAMS RITE EXIT
SERIES 6500 DEVICE

HEADER ]
€3 STRIKE \
N ————

(
[ &
—=

RHR OOOR LHR DOOR

L1

NN
pm—

IMPORTANT !

This device is unhanded. |t con be installed in
either left hond reverse or right hond reverse
doors without alteration. The doors’ lead stile
and header preporotion are IOENTICAL not mirror
imoge. Note in the sketch above that the yoke
type bolt always faces right (os viewed from
inside) and the strike post is toword the right
of the backset centerline for bofh doors

NOTE  STEPS | THROUGH 9 ARE MORE EASILY
ACCOMPL ISHED IF ODOR IS NOT INSTALLED IN FRAME.

I HOW TO FIND BACKSET

BACKSET CENTERLINE IS MEASURED
FROM THE VERTICAL CENTERL INE OF
THE LEADING EDGE OF THE OOOR.

JAMB

DOOR

2 3/4 (69,850m)
’— BACKSET CENTERL INE

SHOWN AFTER
ODOR IS HUNG.
(1) MARK BAR HEIGHT
ON INSIDE OF DOOR
(AND ON OUTSIOE
IF CYLINDER WILL
BE FITTED).
/\\@909
<\/
v
(2) MARK BACKSET
CENTERL INE AT
BAR HEIGHT. ALSO
MARK ON OUTS|OE
AT BAR HEIGHT,
IF CYLINDER TO
BE FITTED).
<z
STEP

<

Lz

N

PEEL OFF BACKING ANO
APPLY CLEAR STICK-ON
TEMPLATES OVER THE
PENCIL LINES.

NOTCH, ODRILL AND
COUNTERSINK WHERE
DIRECTED.

BACKSET
CENTER-
LINE

BACKSET
CENTER-
LINE

2 3/4
(69,85mm )

AANANNANNAN QANNANNNY

STEP

LAY ROD MECHANISM ON PREPARED ODOR WITH GEAR
PLATES OUTWARD AND CASTING RESTING IN

®1 174 (31,75mm) HOLE IN OOOR AS SHOWN BELOW.

ADJUST ROOS TO APPROXIMATE LENGTH.

LOOSEN
SET SCREW

:#F—v
7

L

IF USING
OUTSIDE
LEVER
OPERAT|ON,
INSTALL
TAILPEICE
ADAPTOR AT
THIS TIME

4

STEP

J%’

CONT INUED

ADJUST TOP
/ ( SOUARE ) BOLT
FLUSH WITH

NDTCH.

TOP BOLT
THREADED ABOUT
HALF-WAY IN
(FOR NOW)

o o

BOTTOM BOLT
SHOULO REMAIN
(FOR NOW)
FULLY
THREAQEQ IN.

zl:ﬁﬂﬂm BOLT FLUSH WITH

BOTTOM OF OOOR.

FOR 6'8" DOORS. REMOVE UPPER
ROD FROM SLEEVE, PUT SET SCREW
IN LOWER HOLE AND CUT OFF 5"
FROM THE TOP OF THE UPPER ROO.
INSERT THE ROO BACK IN THE
SLEEVE ANO ADJUST AS SHOWN
ABOVE.

STEP

WHEN ROUGH ADJUSTMENT OF ROOS IS CORRECT,
TIGHTEN METAL-PIERCING SCREWS ALL THE WAY

THRU TUBE. YES!

ALL THE WAY THROUGH AND TIGHT.

STEP

SLIP ROD MECHANISM

STEP

STEP @

INTO OOOR AND SECURE
WITH SCREW.

(YOU CAN USE ONE OF
THE SCREWS AS A

TEMPORARY HANDLE TO
POSITION CASTING. )

WITH SLOT IN
VERTICAL POSITION

INSTALL CYLINDER KIT IF FITTED.

L]

' N

SECURE MOUNTING BAR TEMPORARILY
IN LEVEL POSITION AND MARK HINGE
SIOE FOR MOUNTING HOLES.

REMOVE

MOUNTING BAR AND DRILL HINGE SIDE

| HOLES.

LEAD
EOGE

STEP

HINGE
EOGE

INSTALL THE TOP ACTUATOR ASSEMBLY ONTO
THE SOUARE BOLT AS SHOWN. ADJUST THE
SGUARE BOLT (CW TO LOWER - CCW TO RAISE)
SO THAT THE SGUARE BOLT IS FLUSH

WITH THE TOP OF THE STOP PLATE
AND THE ACTUATOR MOUNTING
BRACKETS SET ONTO THE TOP
CHANNEL OF THE OOOR. ONCE THE
ACTUATOR IS AOJUSTEQ PROPERLY
SECURE WITH MOUNTING SCREWS.

=

INSTALL BAR WITH Tw0
W10 X | 174 SELF-
TAPPING SCREWS AT
HINGE ENO ANO TWO
H10-32 X 172 MACHINE
SCREW AT MOUNTING
BASE

STEP @

STEP,

<~

INSTALL DOOR IN FRAME. MARK BACKSET CENTERLINE ON
HEADER AND THRESHOLO. ALSO MARK WHERE FACE OF
CLOSED DOOR RESTS. APPLY CLEAR TEMPLATES @ AND

(® AND DRILL STRIKE HOLES.

STEP

POSITION STRIKE PLATE
ASSEMBLY INTO HEADER.
THEN TIGHTEN SECURELY
WITH HEX WRENCH.

STEP

MOUNTING SCREWS

LOOSEN FOUR (4 ) MOUNTING SCREWS OF THE
ACTUATOR ASSEMBLY (SEE STEP 10). IT SHOULO
REMAIN FINGER TIGHT. SHUT THE DOOR AND CHECK
FOR LATCHING WITH STRIKE POST. GENTLY OPEN
THE DOOR AND TIGHTEN FOUR MOUNTING SCREWS.
THIS TECHNIGUE WILL SELF-ALIGN THE COMPONENTS.
ADJUST STRIKE AS REGUIRED.

STEP
PLASTIC

BUSHING

(1) HOLO DOOR OPEN.
(2) DEPRESS ANO RELEASE PUSH BAR.

(3) ADJUST BOTTOM BOLT SO IT
CLEARS THRESHOLO BY 1/8°
(3.18mm) AS OOOR CLOSES.

(4) INSTAL
(PLAST
SECURE

LS

e
L BOTTOM GUIOE THRESHOLD
IC BUSHING UP), ANO

WITH FOUR SCREWS. 1/8°( 3. 180m)

MOUNT ING SCREWS

STEP

INSTALL PUSH BAR

END CAPS
/ SMALL
/ “PHILLIPS*

10-32x 5/8 SELF-TAPPING SCREW

2 34
SINGLE DOOR (69,85mm )
2 4 BACKSET CENTERL INE AAAALLLLLAY AN
(69,85mm ) f 2 3/4 S
r r T (69,85mm) \
1 . N + —
DOOR | DOOR
I SANNNNNNNNNNNNNSNSY
PAIR DOOR_
www.adamsrite.com
@ Adams Phone: 800-626-7590
800-872-3267
, Rite B00-872-3267
Fox: 866-582-4641
ASSA ABLOY s00-232-1329 | Rev. L

80-0180-210

8500 EXIT DEVICE FOR HOLLOW METAL DOOR AND FRAME

Date: 07-09-12

Ecn 11935C

Page 2

of 2

TRADEMARK
HARDWARE

WWW.TMHARDWARE.COM



www.tmhardware.com/adams-rite-exit-device-8500-3600-series-concealed-vertical-rod-for-hollow-metal-doors.html

	80-0180-210p1_L.pdf
	80-0180-210p2_L.pdf

